
Relations Inverses (F)
Remplissez les espaces blancs.

5 × 12 = 60 7 × 7 = 49 6 × 12 = 72 8 × 10 = 80
___ × 5 = 60 ___ × 7 = 49 12 × 6 = ___ 10 × 8 = ___
60 ÷ ___ = 5 49 ÷ ___ = 7 72 ÷ 12 = ___ ___ ÷ 10 = 8
___ ÷ 5 = 12 49 ÷ 7 = ___ 72 ÷ 6 = ___ 80 ÷ 8 = ___

7 × 9 = 63 5 × 11 = 55 9 × 6 = 54 6 × 5 = 30
9 × ___ = 63 ___ × 5 = 55 ___ × 9 = 54 ___ × 6 = 30
63 ÷ 9 = ___ 55 ÷ ___ = 5 54 ÷ 6 = ___ ___ ÷ 5 = 6
63 ÷ 7 = ___ ___ ÷ 5 = 11 54 ÷ ___ = 6 30 ÷ ___ = 5

12 × 6 = 72 7 × 8 = 56 8 × 8 = 64 9 × 5 = 45
6 × 12 = ___ 8 × 7 = ___ ___ × 8 = 64 ___ × 9 = 45
___ ÷ 6 = 12 56 ÷ ___ = 7 ___ ÷ 8 = 8 ___ ÷ 5 = 9
___ ÷ 12 = 6 56 ÷ 7 = ___ ___ ÷ 8 = 8 45 ÷ 9 = ___

5 × 12 = 60 8 × 11 = 88 8 × 6 = 48 7 × 11 = 77
12 × 5 = ___ 11 × ___ = 88 6 × 8 = ___ 11 × ___ = 77
60 ÷ 12 = ___ 88 ÷ ___ = 8 48 ÷ ___ = 8 ___ ÷ 11 = 7
60 ÷ 5 = ___ 88 ÷ 8 = ___ 48 ÷ ___ = 6 ___ ÷ 7 = 11

8 × 10 = 80 8 × 5 = 40 8 × 5 = 40 7 × 7 = 49
10 × 8 = ___ ___ × 8 = 40 5 × ___ = 40 7 × ___ = 49
80 ÷ 10 = ___ 40 ÷ 5 = ___ 40 ÷ ___ = 8 ___ ÷ 7 = 7
___ ÷ 8 = 10 40 ÷ 8 = ___ 40 ÷ ___ = 5 ___ ÷ 7 = 7
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Relations Inverses (F) Solutions
Remplissez les espaces blancs.

5 × 12 = 60 7 × 7 = 49 6 × 12 = 72 8 × 10 = 80
_12_ × 5 = 60 _7_ × 7 = 49 12 × 6 = _72_ 10 × 8 = _80_
60 ÷ _12_ = 5 49 ÷ _7_ = 7 72 ÷ 12 = _6_ _80_ ÷ 10 = 8
_60_ ÷ 5 = 12 49 ÷ 7 = _7_ 72 ÷ 6 = _12_ 80 ÷ 8 = _10_

7 × 9 = 63 5 × 11 = 55 9 × 6 = 54 6 × 5 = 30
9 × _7_ = 63 _11_ × 5 = 55 _6_ × 9 = 54 _5_ × 6 = 30
63 ÷ 9 = _7_ 55 ÷ _11_ = 5 54 ÷ 6 = _9_ _30_ ÷ 5 = 6
63 ÷ 7 = _9_ _55_ ÷ 5 = 11 54 ÷ _9_ = 6 30 ÷ _6_ = 5

12 × 6 = 72 7 × 8 = 56 8 × 8 = 64 9 × 5 = 45
6 × 12 = _72_ 8 × 7 = _56_ _8_ × 8 = 64 _5_ × 9 = 45
_72_ ÷ 6 = 12 56 ÷ _8_ = 7 _64_ ÷ 8 = 8 _45_ ÷ 5 = 9
_72_ ÷ 12 = 6 56 ÷ 7 = _8_ _64_ ÷ 8 = 8 45 ÷ 9 = _5_

5 × 12 = 60 8 × 11 = 88 8 × 6 = 48 7 × 11 = 77
12 × 5 = _60_ 11 × _8_ = 88 6 × 8 = _48_ 11 × _7_ = 77
60 ÷ 12 = _5_ 88 ÷ _11_ = 8 48 ÷ _6_ = 8 _77_ ÷ 11 = 7
60 ÷ 5 = _12_ 88 ÷ 8 = _11_ 48 ÷ _8_ = 6 _77_ ÷ 7 = 11

8 × 10 = 80 8 × 5 = 40 8 × 5 = 40 7 × 7 = 49
10 × 8 = _80_ _5_ × 8 = 40 5 × _8_ = 40 7 × _7_ = 49
80 ÷ 10 = _8_ 40 ÷ 5 = _8_ 40 ÷ _5_ = 8 _49_ ÷ 7 = 7
_80_ ÷ 8 = 10 40 ÷ 8 = _5_ 40 ÷ _8_ = 5 _49_ ÷ 7 = 7
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